Supplementary Information:

Fitting of all curves from Figure6 b:
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Fitting of all curves from Figure6 c:

Intercept = 1.58142, Slope = 1.35655E-4
X Intercept = -11657.70266
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Intercept = 1.57988, Slope = 2.78597E-4
X Intercept = -5670.85367

(d)

Intercept = 1.58118, Slope = 1.8145E-4
X Intercept = -8714.10198
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Fitting of all curves from Figure7 b:
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Shrinkage, (10 h)

EPX

100 u .
)e ® EPX-15AKL
S A EPX-30AKL

Ta ° & EPX-15E-AKL

AL, * EPX-30E-AKL
80 -] A .

A
60 - .
Intercept = 132.80109, Slope =-31.01548 4
X Intercept =4.28177

(e) $
40 T T T
1 3

2
Time (h)



